## A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211 ORIGINAL INVOICE

30-045-13182

June 29, 2004

**New Mexico Oil Conservation Division Aztec District** 

1000 Rio Brazos Road Aztec, NM 87410 Invoice 3363

1 of 2

Rig #9

For the plug and abandonment of the **HSGU #71**, a Gallup well located in NW, Section 14, T-31-N, R-17-W, San Juan County, NM. Review report for work details. This work done under NMOCD PA - 41-521-10700028, Purchase Doc.- 04-199-000747

### **Cost Summary:**

Cost	Summary					
ID#	Date	Item Description (1994)	Units	U	nit Cost	Extension
Work	kover Rig	, Travel and Supervision:				
A1	6/24/04	Contractors Supervisor / Cementer		\$	250.00	N/C
A1	6/25/04	Contractors Supervisor / Cementer	1.0	\$	250.00	\$ 250.00
A2	6/24/04	Crew travel, one way	1.5	\$	112.00	\$ 168.00
A2	6/23/04	Crew travel, round trip time	3.0	\$	112.00	\$ 336.00
A3	6/24/04	Shallow Rig	3.0	\$	140.00	\$ 420.00
A3	6/23/04	Shallow Rig	9,8 9-75	\$	140.00	\$ 1,365.00
_		- <u> </u>	17*/>			
Cem	enting Se	rvices:				
B1	6/24/04	Cementing equipment on location		\$	450.00	N/C
B1	6/25/04	Cementing equipment on location	1.0	\$	450.00	\$ 450.00
B3	6/25/04	Cement, 39 sxs Type III = 43.6 Type II	43.6	\$	10.50	\$ 457.80
<b>B</b> 3	6/25/04	Cement, 49 sxs Type III = 54.8 Type II	54.8	\$	10.50	\$ 575.40
В3	6/25/04	Cement, 12 sxs Type III = 13.4 Type II	13.4	\$	10.50	\$ 140.70
Wirel	line Servi	ces:				
C1.1	6/24/04	Wireline unit on location	1	\$	250.00	\$ 250.00
C3	6/24/04	Perforate 3 holes	1	<b>\$</b>	300.00	\$ 300.00
Pack	ers, Retai	ners & Casing Scrapers:				
D3	6/24/04	Cement retainer, tubing set, 5-1/2"	1.0	\$	900.00	\$ 900.00
D4	6/23/04	Casing scraper, 5-1/2"	1.0	\$	250.00	\$ 250.00
Work	strings &	Miscellaneous Rentals:				
E1.1	6/25/04	Workstring rental, 2-3/8, feet	994	\$	0.12	\$ 119.28
E6.3	6/25/04	Companion flange rental, 5-1/2"	1.0	\$	50.00	\$ 50.00
E7.13	6/25/04	Tubing head rental	1.0	\$	50.00	\$ 50.00
E14	6/25/04	Waste fluid container, days used	1.0	\$	30.00	\$ 30.00

okel

### A-PLUS WELL SERVICE, INC.

P.O. BOX 1979 FARMINGTON, NM 87499 505-325-2627 • FAX: 505-325-1211

June 29, 2004

**New Mexico Oil Conservation Division** 

2 of 2

**Aztec District** 

1000 Rio Brazos Road

Invoice 3363

Rig #9

Aztec, NM 87410

For the plug and abandonment of the **HSGU #71**, a Gallup well located in NW, Section 14, T-31-N, R-17-W, San Juan County, NM. Review report for work details. This work done under NMOCD PA - 41-521-10700028, Purchase Doc.- 04-199-000747

**Cost Summary:** 

_ID#_	Date	Item Description	Units	Unit Cost	Extension
Trans	sportatio	n and Miscellaneous Services:			
F1.a	6/24/04	Unit #141, Haul workstring to location	1.0	\$74.00	\$74.00
F1.b	6/25/04	Unit #141, Hold workstring on location	2.0	\$74.00	\$148.00
F4	6/25/04	Float #98, Carry A+ workstring	1.0	\$15.00	\$15.00
F6.a	6/25/04	Unit #265, Haul 1 load of water to tank;	5.0	\$50.00	\$250.00
F14	6/25/04	Purchase water	1.0	\$20.00	\$20.00
F6.b	6/25/04	Unit #134, Haul 1 load of water to location	2.0	\$50.00	\$100.00
			43. 13.		
F6.c	6/25/04	Unit #155, Haul waste fluid to location;	2.0	\$50.00	\$100.00
F7.a	6/28/04	Bachhoe, work on "powder" section of road	3.0	\$50.00	\$150.00
F7.b	7/8/04	Bachhoe, clean up location & trash	5.0	\$50.00	\$250.00
F2	7/8/04	Helper for above	5.0	\$20.00	\$100.00
F11	6/25/04	P&A marker, purchase	1.0	\$120.00	\$120.00

### **Third Party Charges:**

G1

None

Salvage Credit:

**S1** 

None

**THANK YOU** 

OK Johnson To Charles 16.04 To **TOTAL** 7,439.18 6.3750% 474.25 TOTAL DUE \$ 7,913.43 → submitted in lieu of Form 3160-5



# UNITED STATES DEPARTMENT OF THE INTERIOR BUREAU OF LAND MANAGEMENT

Sundry Notices and Reports on Wells

					5.	Lease Number 14-20-603-2022
1. <b>Type</b>	of Well Dil Well				6.	If Indian, All. or Tribe Name Navajo
					7.	Unit Agreement Name
	e of Operator ya Minerals & Energy, c/o	NMOCD, Aztec District	Office			Horseshoe Gallup Unit
		· · · · · · · · · · · · · · · · · · ·			8.	Well Name & Number
	r <mark>ess &amp; Phone No. of Opera</mark> 0 Rio Brazos Road, Aztec, N				9.	HSGU #71 API Well No.
						30-045-13182
4. Loca	tion of Well, Footage, Sec	., T, R, M			10.	Field and Pool Horseshoe Gallup
165	60' FNL & 1825' FWL, Section	on 14, T31N, R17W			11.	County & State San Juan County, NM
12. CHE	CK APPROPRIATE BOX TO	D INDICATE NATURE O	F NOT	ICE, REPORT. O	THER D	ATA
	of Submission	Type of Action		,		
	Notice of Intent	X Abandonment		_ Change of Plan		
		Recompletion		_ New Constructi		
	X Subsequent Report	Plugging Back		_ Non-Routine Fr	acturing	
		Casing Repair		Water Shut off		
-	Final Abandonment	Altering Casing Other -	-	Conversion to Ir	njection	
A C	cribe Proposed or Complet A-Plus Well Service Plugg Contract Number: 41-521- MOL and RU. NU BOP wit	jed and Abandoned th 0700028. Purchase Do	ocume	ent: 04-199-000	747.	ection 13-1-127,
6/25/04 SIGNAT	NU BOP, test. Relief line 1/2" casing scraper to 994 retainer. Establish circular 500# for 5 minutes, held Stung out and back in. Pr spot 39 sxs Type III ceme Perforate 2 squeeze holes to circulate BH annulus cle from 155' to surface, circu Found cement down 15' in and then install P&A marke  TURE  William F. Clark	ition and circulate well client and circulate well client. Sting into retainer. The sure of the casing at 155'. Establish circulate an. Plug #2 with 49 sx late good cement out brack casing and down 8' in arm.	et 5-1/ ean wi Atter nable t above ation o s Type adenhe	2" DHS cement th 25 bbls of ware to pump below Control to CR up to 618" that bradenhead are III cement (65 pead. ND BOP.	retainer a ter. Pres ow CR, p R. Plug to isolate nd then p cf) pump Dig out a nent to fill	at 994'. Sting out of ssure test casing to pressured to 1500#. #1 with CR at 994', the Gallup interval. ump 6 bbls of water down 5-1/2" casing and cut off wellhead.
<b>APPROV</b>	ice for Federal or State Offic /ED BY ION OF APPROVAL, if any:	e use) Title				Date

# A - PLUS WELL SERVICE PO. BOX 1979 • FARMINGTON, NM 87499

-			505-325-2627 • FAX (505) 32	25-1211		
	Rig No_	# 9	<del></del>	Date <u>06/24/0</u>	<u>⊅4</u> Day <i>T}</i> -	lų
	Well Nam	e Horse	SHOE GALLUP UNT # 71	Company PLAYA	MINERALS A	energy
į	FROM	то	DESCRIPTION OF OPE	RATION		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
n Ris	2:30	3.00	ROAD RIG AND EQUIPMENT TO LOCATIO	· N		
, . 1	3:00	4:00	SPUT RIG. RIG UP.			
1	4:00		OPEN WELL (NO PRESSURE)			
		5:00	NIPPLE UP BOP/COMPANION FLANCE AND	TBG HEAD C	HECK RAMS	
	5:00		SECURE WELL			
	5.30	7:00	TRAVEL TO YARD			
		-				
		5-	37			
	,	1	1			
		ļ			<del>-</del> -	<del></del>
		<del> </del>				
	-					
	-				_	
					_	
		-				
				, ·	- William Control	
						· · · · · · · · · · · · · · · · · · ·
		<del> </del>			_	
			***************************************			
		1				
		<u> </u>	A			
	Fuel & Ma	otor Oil	Water Hauled		-	
			Cement Retain			
	CRE	w	NAME	UNIT #	MII FAGE	HOURS

CREW	NAME	UNIT#	MILEAGE	HOURS
Supervisor	MIKE HIGDON	#21		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Operator	TRAVIS BEGAY 221 IN NO COT	#19		5.0
Helper	LONENZO RODRIGUEZ	·		4.5
Helper	ADAN REYES	-(A-		4.5
Helper	CURIS MONTANE 2			4.5
Trainee				

RCI Form - 0801114A

 $\gamma_{i+2,1}$ 

### A - PLUS WELL SERVICE

P.O. BOX 1979 • FARMINGTON, NM 87499 505-325-2627 • FAX (505) 325-1211

Rig No #9

Date 06/25/04 Day FRI

Well Name HORSESHOE GALLUP UNIT # 71

Company PLAYA MINERALS & ENERGY

ŧ	FROM	то	DESCRIPTION OF OPERATION
17	5:30	5:45	LOAD RIC SUPPLIES
1/2 h T	5:45	7:15	TRAVEL TO LOCATION
112	7:15	7:45	START RIG AND EQUIPMENT. HELD PRE-JOB SAFETY MERTING.
	7:45		OPEN WELL (NO PRESSURE)
		8:15	NIPPLE UP FLOWLINES TO PIT.
į	8:15		PICK UP AND TIH/51/2" CSG SCRAPER AND 31 STS - 21/8" A-PLUS
4		9:00	WORK STRING FOT@ 999'.
	9:00	9:30	REPLACE BRONEN 90 ON TBG TONGS.
Ē	9:30	10:15	TOH/ TBG AND SCRAPER
1. 1.	10:15	11:00	TIH / 5/2" DHS CRT AND TBG. SET CRT @ 994, STING OUT OF CRT.
-	11:00		PUMP 25 BBLS FRESH WATER TO CIRCULATE HOLE CLEAN.
•			PRESSURE TEST CSC TO 500 PSI. HELD PIRESSURE 5 MIN. NO PRESSURE
-2/1/m		11:30	LOSS. BLED PRESSURE OFF.
9714	11:30		STING IN TO CRT. TRIED TO PUMP BYLOW CRT. PRESSURED UP TO
994 m Ris			1500 PSI. STUNG OUT AND BACK IN. PRESSURED UP TO 1500 PSI.
0.0		12:00	COULD NOT PUMP BELOW CRT, STINC OUT,
1619	12:00		PLUC #1 - MIX AND PLMP 39 SXS TYPE II CONT FROM 994 TO
,		12:30	TOLO GIB', DISPLACE.
	12:30	1:15	LAY DOWN TRG AND STINCER.
	1:15		RIG UP WIRELINE, RIH/WIRELINE, PERFORATE 2-2/8" BI-WIRE SQUEEZE:
		1:45	HOLES @ 155', POH/WIRELINE, RIG DOWN WIRELINE.
	1:45		PUMP GBBLS WATER DOWN CSCTO CIRCULATE OUT BRADENHEAD, CIRCULATE
· 1		2:00	CLEAN/AN ADDITIONAL GISBLS.
	2:00		PLUG 2 - MIK AND PUMP 49 SXS CMT DOWN CSG TO CIRCULATE GOOD CMT
		2:30	OUT BRADEN HEAD.
:	2:30	3:00	NIPPLE DOWN BUP.
;	3:00	ALCO	DIE OUT AND CHT OFF WELLHEAD. CHEO 15 IN 5/2 CSG
	A.co	4:00	PLACE P+A MARKER /12 SXS CMT CMT@ 8' IN 8% CSG
	5:30	5:30	RIG DOWN CUT ANCHORS
111	Fuel & Mo	otor Oil_	Water Hauled

1/2 ho T

Cement Retainers 5%' DHS @ 994' PLUL 2 - 49 5x > TYPE TO PLA MARKER/12 5x 5 Cementing PLUCE - 39 5x5 TYPE TE

Wireline 2-2/8 BI-WIRE @ 155' (B. 5)

CREW	NAME	UNIT #	MILEAGE	HOURS
Supervisor	MIKE HIGDON	, ±21		maka to tema iti
Operator	ADAN REVES	<sup>d</sup> 19		13,5
Helper	LORENZO RUDRICHEZ			13,5
Helper	CHRIS MONTANEZ	·		13.5
Helper	GOR DON HACKETT			13,5
Trainee			_	

RCI Form - 0801114A

Date:	Truck #	: <u> </u>
Event: #1	From: 464 To: NG4 #71	Hours
Start:	What: HAUL FLOAT #98 AND PIT # 525	
6/24/04		
Stop:	Charge to: MMOCD	1.0
Event #2		(2) 1945年 (1945年 1945年 194 
Event: #2 Start:	From: HGu <sup>サ</sup> 7/ To: What: STANORY	
6/25/04	What: STANDBY	
5/23/04 Stop:	Charge to: NMOLI)	2.0
Event: #3	From: To:	
Start:	What:	
Store .	Chausa ta	
Stop:	Charge to:	n san Mar Armayler et S
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	i Soe de missanen 750 eta Arto eta
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
F40	Tr	T T
Event: #6 Start:	From: To: What:	
Start.	What.	
Stop:	Charge to:	
		Called Secretarily
Event: #7	From: To:	
Start:	What:	
Ston	Charge to:	
Stop:		er entre et en
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
	Driver: MIKK HIGDON	3.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		
-		
<u> </u>		
		9C1 Form - 080158A

P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date: 6-25-04 Truck #: <u>265</u> Event: #1 From: Farmaton To: Hours Start: /2.30 What: 3,5 1.M.O.C.D. Stop: 400 Charge to: From: Shore Gellap To: A - Plas Event: #2 Start: 4:00 What: 1,5 O,C.D. Stop: 5'30 Charge to: Event: #3 From: To: What: Start: Stop: Charge to: Event: #4 From: To: Start: What: Stop: Charge to: Event: #5 From: To: Start: What: Charge to: Stop: Event: #6 From: To: Start: What: Charge to: Stop: Event: #7 From: To: Start: What: Charge to: Stop: Event: #8 From: To: Start: What: Stop: Charge to: Manc Lekon Driver: Helper Diesel: NM MILES: \_5\_2 CO MILES: Oii: UT MILES: Remarks: 24 17: 0.21 It sau NMOCD oad Water

5 ms.

(6.2)

5ms.

\$ 20

oad

6.147

Date:		ok #: <u>  39</u>
Event: #1	From: 464 # 69 To: 464 7/	Hours
Start:	What: NAUL 2 LOADS FRESH WATER	
6/25/04		
Stop:	Charge to: NMQCD	2.0
Event: #2		CRAMINE DE STERRO ME
Start:	From: To: What:	
Start.	wiidt.	<del></del>
Stop:	Charge to:	
		Carlo and Section 1997
Event: #3	From: To:	
Start:	What:	
C44	Charres	
Stop:	Charge to:	Poca Carpanicates Carpanica
Event: #4	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
E 46		
Event: #6 Start:	From: To:	
Start:	Wildt.	
Stop:	Charge to:	
Event: #7	From: To:	
Start:	What:	
04		
Stop:	Charge to:	<b> </b>
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
	Driver: MIKE HIGDON	2.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		
rtomarko.		····
·		

Date:	Truck #:	_/55
Event: #1	From: HGu #69 To: HGu #71	Hours
Start:	What: STANDBY FOR DISPOSAL	
6/25/04		
Stop:	Charge to: MMOCD	2.0
Event: #2	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #3	From: To:	
Start:	What:	
Stop:	Charge to:	
Event: #4	From: To:	Hari Bus Hallistanista kis
Start:	What:	
Stop:	Charge to:	
Event: #5	From: To:	
Start:	What:	
Stop:	Charge to:	
F #C		Piles de lati, re-sacri.
Event: #6 Start:	From: To: What:	
Otart.	Wild.	
Stop:	Charge to:	
	I	er war to the track
Event: #7 Start:	From: To: What:	
Start.	Wilat.	
Stop:	Charge to:	
enterperation and the first		MARCH PROGRESS
Event: #8	From: To:	
Start:	What:	
Stop:	Charge to:	
	Driver: MIKE HIGDON	2.0
Diesel:	Helper	
Oil:	NM MILES: CO MILES: UT MILES:	
Remarks:		FRE and Countries with the T
Nemarks:		

Date: <u>6</u> 3			
Event: #1	What: KARP WITH RIS MOST TOWN & WORKING ON ROAD  AGMOSING PONDER & SOFT DIRT TO GET TO LEGATION	Hours	
Start: ಕ್ರೈಕರ	What: HOLD WITH RIS MOST TOLOWS & WORKING ON ROAD	7	
	REMONNY PONDER & SOLT DIRT TO GET TO LUNTION		
Stop: 🖊 🔆 🕴	Charge to: NMOCD		
Event: #2	What: Warking on Rose Romany Powpon & filling in		
Start: /, 90	What: Working on Rose Konsung Powoon & filling in	3	
	WASHED OUT SPOTE		
Stop: 4/.00	Charge to: NM OCD		
Event: #3	From: MSG 74 To: MSG 71 What: Working on Rose Romoning Rosesa & Turingin		
Start: 1,60	What: Wax King on Rong Romoving Rowers & TILLINGIN	13	
	WASHED OUT SPOTS		
Stop: 7:40	Charge to: NA OLD		
 Event: #4	From: To:	1	
Start:	What:	1	
<del></del>		1	
Stop:	Charge to:		
Event: #5	From: To:	T	
Start:	What:	<del></del>	
July 1.		<del>                                     </del>	
Stop:	Charge to:		
Event: #6	From: To:	T	
Start:	What:	1	
Stop:	Charge to:		
Event: #7	From: To:	1	
Start:	What:		
Stop:	Charge to:		
Event: #8	From: To:	T	
Start:	What:		
Stop:	Charge to:		
	Driver: DUNG GUSTIN	13	
Diesel: 99.3	Helper		
Oil:	NM MILES: BO CO MILES: UT MILES:	<u> </u>	
Remarks:	18.3 Guesos in ONIT 24 Conver they DOGAT		
	NMOCO HSQU#71	<del> </del>	
<del></del>		-	
	Repair Boad to well	<del> </del>	
	Jepan June it will	+	
<del> </del>	<del>                                     </del>	<del> </del>	

### A-Plus Well Service, Inc.

P.O. Box 1979, Farmington, NM 87499 505-325-2627

Date: \_7-8-04 Truck #: 3 山 Event: #1 From: A-P-W Hours Start: 5:30 What: CLEAN LOCATION CUECK FOR CONTAMINATION 5 APOUND WELL HEAD LOND SCRAP & HAVE TO C.T.B Stop: 10:30 Charge to: NM OCD From: USGU #69 To: 4560 # 71 Event: #2 Start: 10,30 What: CLEAN LOCATION (NECK FOR CONTAMINATION AROUND WELL HORD & KINL SCRAP TO CT.B Charge to: NMOCO Stop: 3:30 Event: #3 From: To: Start: What: Charge to: Stop: Event: #4 From: To: Start: What: Stop: Charge to: Event: #5 From: To: Start: What: Stop: Charge to: Event: #6 To: From: Start: What: Stop: Charge to: Event: #7 From: To: Start: What: Stop: Charge to: Event: #8 From: To: Start: What: Charge to: Stop: Driver: DUNNE GUSTIN Helper FLOYD BESAY Diesel:しろろ。 NM MILES: 84 Oil: CO MILES: UT MILES: Remarks: 19.1 GALLOW IN COUT 34 64 MILE LIWY 20 DRRT = BYTOTIL H-Sau #71 5 hrs. NMOCO Clean location, check for contamination

Helper 5 hrs.